
Tyler Camera Systems 14218 Aetna Street Van Nuys, California 91401 • USA
www.tylermount.com • 800-390-6070 • FAX (818) 989-0423

NNOSEOSE MMOUNTOUNT • RS• RS
407 • JET RANGER / LONG RANGER

INSTALLATION MANUAL

Tyler - Nose Mount • UltraMedia RS
For Bell 407 & 206 & 206L Series Helicopters

FAA STC # SH2256NM

PLEASE RETURN THIS MANUAL WITH EQUIPMENT

This manual is available for download from our web site.



Refer to the following Manual for camera setup
and operation instructions on the Nose Mount II:

(provided with equipment)

Tyler - Nose Mount II
Setup Manual



MODEL: Bell 206________________

JOB #: _________________________

PREPARED BY: ___N. Tyler____________

___ ____________

CHECKED BY: ___N. Tyler___________

_____________________

APPROVED BY: ___T.I. Cox____________

REPORT #: ___TCS-107______________

DATE: ___8-1-85_________________

# OF PAGES: __6________________
(A plus 1 thru 5)

# OF DRAWINGS: ___1________________

NOSE MOUNT • GIMBAL

INSTALLATION MANUAL FOR
407 / JET RANGER / LONG RANGER

HELICOPTERS

REVISIONS

DATE APPROVAL
PAGES

AFFECTED
REVISION
LETTER

5-1-83

6-27-83

11-8-84

8-1-85

10-5-95

ALL

ALL

PG3

ALL

ALL

NC N.T.

C.G.

C.G.

A

B

C

D

Preliminary copy

Initial release

Rev. para 9: “Plug video camera power cable
into recept...”

Added cover page, revised report to cover Bell
206 L-1 and L-3 models.
Rev. installation data to cover wider range of
cameras

Rev. pages (all) to reflect models added. Rev.
camera pages weight to cover wider range of
cameras.



APPLICATION & LIMITATIONS

This camera installation is applicable to Bell Jet Ranger models 206, 206A, 206A-1, 206B, 206B-1,
206B-3 and Long Ranger 206L, 206L-1, 206L-3, 206L-4, 407 series helicopters. In addition, these
helicopters must be equipped with high gear Bell kit 206-706-031-1 or 206-706-010-21 or
206-706-210-103 or 206-706-064-101 or 206-706-064-003.

REVISIONS (CONTINUED)

DATE APPROVAL
PAGES

AFFECTED
REVISION
LETTER

11-10-99 ALL E Additioin of Gimbal (Section 2)

4-11-06 ALL F Additioin of Bell 407 Model



Two types of connectors may be found inside the helicopter for Auxiliary Power:

(b) Amphenol 2 PIN
typically in 206/206L

(a) “BANANA” 2 PIN
typically in AS-350/355

Note: When utilizing the helicopter to power any of the camera mounts and/or
camera and/or accessories (instead of a battery pack), the maximum current
draw is not to excede 28 volts / 400 watts (approx. 15 amps).

Report # TMX 3-98



SECTION 1

Nose Mount - Installation Manual

Report # TCS-107



Page 1 of 5

Report # TCS 107

1) Remove sixteen (16) existing 10-32 bolts from underside
of helicopter fuselage, between stations 17.5 and 38.0.

Note: Save bolts, to be reinstalled after Nose Mount is
removed from helicopter.

2) Install Tyler Nose Mount “Attach Frame” (narrow end for-
ward) with sixteen (16) 10-32 bolts and washers provided.

Using a 5/32” Allen Driver, apply approx. 2-ft-lbs. torque.

Note: Use 16 bolts MS 16996-15 cut down to one inch long
to form “Tyler Attach Frame Bolt” (See drawing #TYL-206-
001 Sheet 1 Dash no. 45).

3) Insert Nose Mount into Attach Frame (with air vents for-
ward). Insert all four Expando Pins into holes on sides of
Attach Frame.

Note: Do not lock Expando Pins until all four are in place.

Note: A new style of Expando Pin is being installed on all
new Nose Mounts. Instead of a lever, a knob is used to
tighten (or loosen) the pins. Clockwise to tighten, and
counterclockwise to loosen. Tighten knobs firmly, but do
not overtighten.



Page 2 of 5

Report # TCS 107

4) Swing all cam handles on the Expando Pins towards rear
of helicopter, until the little green safety lock lever (on the
Expando Pins) locks into position.

Note: Expando Pins should be snug in holes, just prior to
locking. If Expando Pin feels loose in hole, make the neces-
sary adjustments (see instructions on page 4).

5) Fasten the Quick Release Plate to the camera (at the
fore-to-aft balance point) with the 3/8-16 hex head “nylock”
bolt provided.

Using a 9/16” wrench, apply approx. 9 ft-lbs. torque.

6) With red cam-arm open (on Quick Release Plate) slip
camera onto the dove-tail plate on the Nose Mount. Position
the camera so the fore-to-aft balance point is near the center
of the dove-tail plate. Secure the camera by locking (closing)
the red cam-arm and, inserting two Pi-pins into the dove-tail
plate (one at either end).

Note: All cameras are authorized that will accept the Tyler
Quick Release Plate (part # TYL-206-007). Weight of cam-
era (including film magazine) film, and/or video tape, etc. not
to exceed 39 lbs. Maximum frontal area of these parts not to
exceed 9 square feet.



Page 3 of 5

Report # TCS 107

7) Loosen two 5/16 hex head bolts on underside of tilt base
and slide camera inboard toward mount as far as camera will
allow and lock into position.

Using a 1/2” wrench, apply approx. 7 ft-lbs. torque.

8) Adjust camera Lock-down Bar against the film camera
magazine (or video camera handle).

First, center the upright arm over the magazine (or handle)
and lock it in place by tightening the red lever.

Second, (with the red knob loose) push and hold the Lock-
down Bar against the magazine (or handle) and tighten the
red knob.

9) Plug in cables.

Nose Mount - rear panel:
Securely fasten the Control and Coax cables (twist shell on
connector clockwise to lock).

Nose Mount - tilt arm:
Securely fasten the Camera, Coax and any other cables nec-
essary (twist shell on connector clockwise to lock).



Page 4 of 5

Report # TCS 107

10) Route the cables from the Nose Mount into cockpit and
connect to Nose Mount Control Console.

Note: Cables are usually routed through a hole in the left
chin bubble. Otherwise, route through left side window.

• Remove left side cyclic and collective (helicopter control
handles) and stow.

• Tape down excess cable length (in cockpit) to prevent inter-
ference with helicopter controls.

11) Connect the Nose Mount Power Cable from the Control
Console to 24 to 28 VDC power source...

Mode 1: Tyler (or equivalent) 24V/12AH Battery Pack.

Mode 2: Helicopter auxiliary 28VDC power connector, using
Tyler "Ship" Power Cable (if provided).

Mode 3: Helicopter auxiliary power connector and a Battery
Pack, using Tyler "Ship & Battery" Power Cable (if provided).

- NOSE MOUNT ASSEMBLY COMPLETE -

Disassembly
Reverse above procedure for disassembly.

Note: The Expando Pins green safety lock must be held open in order to release the cam handle.

Expando Pin adjustment (to be accomplished by helicopter mechanic):
• Loosen the set screw on the side of the cam handle using a 1/8” allen wrench.
• Tighten, or loosen the inner (threaded) shaft, using the 1/8” allen wrench, until desired tension is
applied.
• Tighten side set screw.

Important: The inner threaded shaft is a reverse thread (clockwise will loosen up adjustment).

Note: It is often necessary to insert the forward Expando-pins while they are in the locked position,
in order to clear the lower hanging chin bubbles. Therefore, it is necessary to first loosen the
Expando-pins (as described above) and then tighten them back up after insertion.



Page 5 of 5

Report # TCS 107



SECTION 2

Gimbal - Installation Manual

Report # TCS-107



Page 1 of 1

Report # TCS 107

1) Remove sixteen (16) existing 10-32 bolts from underside
of helicopter fuselage, between stations 17.5 and 38.0.

Note: Save bolts, to be reinstalled after Nose Mount is
removed from helicopter.

2) Install Tyler Nose Mount “Attach Frame” (narrow end for-
ward) with sixteen (16) 10-32 bolts and washers provided.

Using a 5/32” Allen Driver, apply approx. 2-ft-lbs. torque.

Note: Use 16 bolts MS 16996-15 cut down to one inch long
to form “Tyler Attach Frame Bolt” (See drawing #TYL-206-
001 Sheet 1 Dash no. 45).

3) Insert Gimbal into Attach Frame. Insert all four Expando
Pins into holes on sides of Attach Frame.

Note: Do not lock Expando Pins until all four are in place.



Page 2 of 2

Report # TCS 107

10) Route the cables from the Gimbal into cockpit and con-
nect to Gimbal Control Console.

Note: Cables are usually routed through a hole in the left
chin bubble. Otherwise, route through left side window.

• Remove left side cyclic and collective (helicopter control
handles) and stow.

• Tape down excess cable length (in cockpit) to prevent inter-
ference with helicopter controls.

11) Connect the Gimbal Power Cable from the Control Console to 24 to 28 VDC power source...

Mode 1: Tyler (or equivalent) 24V/12AH Battery Pack.

Mode 2: Helicopter auxiliary 28VDC power connector, using Tyler "Ship" Power Cable (if provided).

Mode 3: Helicopter auxiliary power connector and a Battery Pack, using Tyler "Ship & Battery" Power
Cable (if provided).

- GIMBAL ASSEMBLY COMPLETE -

Disassembly
Reverse above procedure for disassembly.

Note: The Expando Pins green safety lock must be held open in order to release the cam handle.

Expando Pin adjustment (to be accomplished by helicopter mechanic):
• Loosen the set screw on the side of the cam handle using a 1/8” allen wrench.
• Tighten, or loosen the inner (threaded) shaft, using the 1/8” allen wrench, until desired tension is
applied.
• Tighten side set screw.

Important: The inner threaded shaft is a reverse thread (clockwise will loosen up adjustment).

Note: It is often necessary to insert the forward Expando-pins while they are in the locked position,
in order to clear the lower hanging chin bubbles. Therefore, it is necessary to first loosen the
Expando-pins (as described above) and then tighten them back up after insertion.



Page 1 of 3



Page 2 of 3



Page 3 of 3



Page 1 of 4



Page 2 of 4









Page 1 of 2



Page 2 of 2


